4 holes 90° to each
other on H-PCD

HPCBH0402-40-623 | 3 | g10x7Dp | @85 | 22 | 8 | 10| 4 | 27:54.5Dp
(M4 Capscrew)

HPCBH0402-40-634 | 4 | g6x8Dp | @14.0 | 22 | 8 | 10| 4 | 97:5x45Dp
(M4 Capscrew)

HPCBH0402-40-625 | 5 | @6x8Dp | @14.0 | 22 | 8 | 10| 4 | 97:5x45Dp
(M4 Capscrew)

HPCBH0402-40-606 | 6 | @17x9Dp | @150 | 22 | 8 | 10 | 4 | 97:5x45Dp
(M4 Capscrew)

HPCBH0402-58-608 | 8 |@22x11Dp| @195 | 36 | 12 | 18 | 6 | 29:55-5Dp
(M5 Capscrew)

HPCBH0402-58-6000 | 10 | @26x12Dp| @24.0 | 36 | 12| 18 | 6 | 995x5:5Dp
(M5 Capscrew)

HPCBH0402-58-6201 | 12 | @32x14Dp| @28.0 | 36 | 12 | 18 | 6 | 2955500
(M5 Capscrew)

HPCBH0402-94-6202 | 15 | @35x18Dp| ©33.0 | 51 | 19| 24 | 8 | 215:0x8.5Dp
(M8 Capscrew)

HPCBH0402-94-6003 | 17 |035x17Dp| 833.0 | 51 | 19 | 24 | g | @15.0x8:5Dp
(M8 Capscrew)

HPCBH0402-94-6004 | 20 | @42x19Dp| ©38.0 | 51 | 19 | 24 | g | ©15:0x8.5Dp
(M8 Capscrew)

HPCBH0402-94-6005 | 25 | @47x19Dp| @43.0 | 51 | 19 | 24 | g | @15:0x8.5Dp
(M8 Capscrew)

HPCBH0402-94-6006 | 30 | @55x20Dp| @50.0 | 51 | 19 | 24 | g | ©15:0x8.5Dp
apscrew,

(M8 G )




Shafis & Bearings

Double Housed Bearing Assembly (Square)
HPCBHO4 - With Circlip Retainer

L
—L2—L1s/ 3 |—
8% T (2]
2J I — =
oC 2B
il = F
Chamfered on all external corners 7 THD v ﬂHI ”
T-5 | 619 | 2039 | 4069 | 60-99 700 + ke
List Price -5% -10% -15% -20% -30% g
Bearing XX PRICE B
PART NUMBER OA HPCD THD K 5 by @ F EACH 15 5.
HPCBH0402-40-623 | 40 | 30 | 24201 g9 | 92922 155 5 | gesra ()
(M5) 3x10x4 B ]
24.20 634zz
HPCBHO0402-40-634 40 30 M5) 30 4x16x5 @22 3 £55.12
©4.20 62527
HPCBH0402-40-625 | 40 | 30 ) 30 | ooes |922] 3 £55.12
294.20 606zz
HPCBHO0402-40-606 40 30 M5) 30 6x17x6 @22 3 £55.12
95.20 6082z
HPCBH0402-58-608 | 58 | 46 ™) 44| g |936| 4 £68.94
05.20 60002z
HPCBH0402-58-6000 | 58 | 46 ) 44| ooees 936 4 £68.94
95.20 6201zz
HPCBHO0402-58-6201 | 58 46 M6) 44 19x32x10 036| 4 £68.94
08.50 620227
HPCBH0402-94-6202 | 94 | 78 o) 77| oxasi1 |962) 7 | £110.30
98.50 6003zz
HPCBHO0402-94-6003 | 94 78 M10) 77 17x35x10 062| 7 £110.30
©8.50 60042z
HPCBH0402-94-6004 | 94 | 78 o) 77| oxangia |962| 7 | £110.30
08.50 60052z
HPCBHO0402-94-6005 | 94 78 M10) 77 25x47x12 262| 7 £110.30
28.50 60062z
HPCBH0402-94-6006 | 94 | 78 o) 77| soxeqis |962) 7 | £110.30

Unit 14, Foxwood Industrial Park, Foxwood Rd. Chesterfield, Derbyshire $41 9RN

Telephone +44(0)1246 268080 Fax +44(0)1246 260003




